MOO00094 / A006631

Original
language
English

FUNC FLATSCREEN CHVSTD2

Installation and
Adjustment Manual

DE
IT
ES
Fl
FR
NL
PL
RUS
ARB
SE
GR

Handbuch fUr Installation und Anpassung
Manuale per l'installazione e la regolazione
Manual de instalacion y ajuste

Asennus- ja saatbohje

Manuel d’installation et de réglage
Handboek voor installatie en instellingen
Instrukcja instalacji i konfiguracii
WNHCTPYKUMA NO yCTaHOBKe U perynnpoBkKe

Monterings- och justeringsmanual F U N c

Eyxelpidlo eykatdotaong kat puBuiong BY SMS



2 FUNC FLATSCREEN CHVSTD2

Assembly Instructions

You will need

Max 200 kg
(444 Ibs.)

>‘4l‘ ’ \. Screw List

X o1 J1 Screw M8x20 x4
g ] %\ X J2 Nut M8 x4
> J3| @mw | Screw M8x20 x4

J4| © |washer15/8 x2

J5 Washer 22/8 x2

J6 @ Washer Locking | x2

J7| L |Nos. 3,4,6 X3

J8 Screw M10x65 | x1

J9 Nut M10 x1

- f J10| O Plastic cover x2
= J11 (O |Plastic cover x20

'O ole, H1| @b |Screw M6x10 x8

@jJ H2 Washer 6,4 x8

no.3 no.4 no.6 @@@@@




FUNC FLATSCREEN CHVSTD2 3

——Min 70mm.

Tighten!




Func Flatscreen -
“ H Unislide
Refer
Manual!

8 For 0° Tilt RPN




Product Dimensions

FUNC FLATSCREEN CHVSTD2 5

COCOCOCD

o COC O C D

{82*

250 mm | 200
s = }(
0 1 | % ] "
\ B /
q A/
o
o
=
£
(o]
< =
© E E
£ A 2 £
3 g =3
g i
- £
<’§ £ E.
o]
= < E
£ S 3
c -
N s
< L
s R=4,2 U 1 ‘—L ]
g D U O
H H [] D
iy == |} S
~ o
& - £ N
' 0| &
_ @ @ — = =
= = U
H H U ~ =
~110— u
Min. 100 mm - Max. 800 mm |
Tilt -3° to +10° |
200 DETAIL 'A'
2 11 (x4) ay) ©
= S
M~
© (] \E
o I =
760

Swivel +/- 180°

All dimensions in mm.




6 FUNC FLATSCREEN CHVSTD2

FUNC

BYSMS

www.smartmediasolutions.se

/ y24 T

Juswinoop siyy Jo Buysignd ey Jeye suoneoyoads 1onpoud sy} ul sebueyo sonpoiul 0} JyBu ey anesal s\ g Aed  L£9900V / 60000 :0u20d  L0-L0-€L02



	page1
	page2_1
	page3_1
	page4_1
	page5_1
	page6_1

